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Total Pages—8 AHECO—-—05

3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 80
Answer any one Group as per your Syllabus
Answer from all the Sections as per direction
The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
(MICROECONOMICS - I)
SECTION — A

1. Answer a/l the questions : 1x12

(7)) Define utility function.

(i7) What is an indifference curve ?

( Turn Over )



(iii)

(1)
)
(vi)

(vii)

(2)

What is the shape of the Indifference curve
for perfect substitutes ?

What do you understand by Income Effect ?
Define demand function.

Substitution and income effects work in
opposite directions, incase of
goods.

Define production function.

(viii) What do you understand by Isoquant Maps ?

(x)

(x)
(xi)

(xii)

AH ECO —-05

What is the general form of Cobb-Douglas
production function ?

What is Marginal Revenue ?

A firm's economic profits are the difference
between its and

Define cost function.

( Continued )

(3)

SECTION — B

2. Answer any eight out of the following : 2x8
(i)  Explain Marginal Rate of substitution.

(if)  Write down any two properties of indiffe-
rence curve.

(iii) Whatis budget constraint ?
(iv) Define Consumer's Surplus.

(v) What do you mean by compensated
demand function ?

(vi) Define the concept of net substitutes and
net complements.

(vii) Explain linear production function.

(viii) What do you understand by technical
progress ?

(ix) What are the conditions of profit
maximisation of a firm ?

(x)  Define short-run supply curve.

AH ECO —-05 ( Turn Over )
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SECTION — C SECTION — D
3. Answer any eight of the following : 3x8 Answer all questions : Tx4
(/)  Examine indirect utility function. 4. Discuss the various axioms of rational choice.
(i) Interpret the convexity of indifference Or

curve.
Define expenditure function. Discuss the

(iii) Explain the lump-sum principle. properties of expenditure function.

(iv) Write a brief note on compensated price

elasticities. 5. Explain the Indirect Approach to the changes in a

goods price.
(v) Explain substitution effect of a price
change. Or
(vi) Explain the concept of returns to scale. Distinguish between the individual's demand

(vii) Write a brief note on fixed proportions curve and compensated demand curve.

production function. ‘ S ‘
6. Examine the cost minimising input choice.

(viii) Explain in short the relationship between
average and marginal revenue. Or

(ix) Explain input demand function. Define Cost. Discuss the properties of cost

: : oL function.
(x) Examine the rate of technical substitution.

AH ECO —-05 ( Continued ) AH ECO =05 ( Turn Over )
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Examine the short run supply by a price taking
firm.

Or

Explain the conditions of profit maximisa-
tion.

GROUP — B

(OLD SYLLABUS)
(MICROECONOMICS -1)

SECTION — A

Answer all questions : 2x8

(a) Economic models are based on assumptions,
why ?

(b) What is the value of MRS 1n case of neutral
goods ?

(¢) Define income elasticity of demand.

(d) What is the shape of the indifference curve
in case of perfect complements ?

AH ECO —-05 ( Continued )

(7)

(e) What is isoquants or equal product curves ?

(f) Give two import reasons for the occurrence
of increasing return to scale.

(g) Doyou think monopoly power is a source
of profit ? Why ?

(h) Explain the concept of reasonable profit.
SECTION — B
Answer all questions : 16 x4

What are economic models ? Distinguish
between general economic model and quantita-
tive economic model.

Or

How utility function from indifference curves
i1s constructed ? What relation exists between
marginal utility and MRS ?

Discuss various methods of measurement of
price elasticity of demand.

AH ECO —-05 ( Turn Over )
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Or

Consumer consumes two goods X and Y. If
commodity X is rationed and the constraint is
binding. What is the effect on consumption set ?
Explain.

4. What 1s isoquant ? Explain properties of
1soquants.

Or

When sum of exponents (a+ ) of
Cobb-Douglas production function is equal to
one, it shows constant return to scale. Prove.

5. What is profit function ? Explain its properties.

Or

Distinguish between
(7)) Accounting Profit and Economic Profit

(i) Normal Profit and Monopoly Profit.

AH ECO —-05 BA—
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3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 80
Answer any one Group as per your Syllabus
Answer from all the Sections as per direction
The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
(MACROECONOMICS)

SECTION — A

1. Answer all questions : 1x12

(i) Define Average Propensity to Consume
(APC).

( Turn Over )



AH ECO —-06

(2)

(i1)  Consumption function indicates a functional
relationship between and

(iii) What is Autonomous Investment ?
(iv) Define Liquidity Trap.

(v) Whatdo you understand by supply of
money ?

(vi) What is Speculative demand for money ?
(vii) What is Aggregate Supply ?
(viii) What is the shape of LM curve ?

(ix) Product market is in equilibrium when
desired and are equal.

(x) Define Inflation.
(x7) What is the meaning of Trade cycles ?

(xii) What do you mean by Adaptive Expecta-
tions ?

( Continued ) AH ECO —06

(3)

SECTION — B

Answer any eight of the following : 2x8

(i)  What does absolute level of income imply ?

(if) Define Marginal Efficiency of Capital
(MEC).

(iii) What do you understand by Residential
Investment ?

(iv) Whatis High-powered money ?

(v)  Mention any two measures of money supply
in India.

(vi) Define money multiplier.
(vii) What is the slope of IS curve ?

(viii) Write down two causes of change in the LM
curve.

(ix) Explain Rational Expectation.

(x) Mention any two characteristics of trade
cycles.

( Turn Over )



3. Answer any eight of the following :

AH ECO —-06

(4)

SECTION — C

(7))  Discuss the measures to raise consumption
function.

(if) Write a brief note on Marginal Efficiency
of Investment (MEI).

(7iii) Explain in brief the principle of accelerator.

(iv) What 1s the classical approach to the
demand for money ?

(v)  What are the implications of liquidity trap ?
(vi) Write anote on Aggregate Demand.

(vii) Examine the factors affecting the slope of
IS curve.

(viii) Discuss the product market equilibrium in
the IS-LM framework.

(ix) Examine the long-run Phillips curve.

(x) Explain the various characteristics of a
trade cycle.

3x8

( Continued ) AH ECO —06

(5)

SECTION — D

Answer all questions : 7% 4

Explain Keyne's psychological law of consumption
and discuss its implications.

Or

Explain how does the MEC influence the
decision to invest.

Discuss Keynesian approach to the demand for
money.

Or

Explain the measures of money supply in
India.

Examine the changes in IS-LM curves and their
implications for equilibrium.

Or

Using IS-LM model, derive the aggregate
demand curve.

( Turn Over )
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7. How does Phillips curve explains the trade-off
between unemployment and inflation ? Discuss
its policy implications.

Or

Explain Hawtrey's theory of trade cycles.

GROUP — B
(OLD SYLLABUS)
(MACROECONOMICS-1)
SECTION — A

1. Answer the following questions : 2x8

(a) Explain the concept of marginal propensity
to save.

(b) What are the important features of Keynes's
consumption function ?

(¢) Why does LM curve slopes upward ?

(d) What do you mean by monetary accommo-
dation of expension Fiscal policy ?

AH ECO —06 (Continued )

(7)

(e) Whatis liquidity trap ?
() Whatis narrow money ?
(g) Name the four phases of trade cycle.
(h) What is natural rate of unemployment ?
SECTION — B
Answer all questions : 16 x4

2. Explain the relative income hypothesis of
consumption. What are its limitations ?

Or

What is consumption function ? Explain its
importance in the theory of determination of
income and employment.

3. Explain the concept of supply of money. What
are the factors responsible for the rapid increase
in money supply ?

Or

Explain the Keynesian theory of interest.

AH ECO —06 ( Turn Over )
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How 1s Keynesian theory of interest different
from the classical theory ?

How IS curve 1s derived from the goods market
equilibrium ? Why does IS curve slopes upward ?

Or

Explain the roles of Fiscal and Monetary
policy with the help of IS-LM model.

What is Phillips curve ? What kind of trade-off
between unemployment rate and inflation rate
does it imply ?

Or

What is trade cycle ? How it can be
controlled ? Explain.

BA—
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3rd Sem.ester Examination, 2020
Time : 3 hours .
Full Marks : 80
* Answer any one Group as per your syllabus
Answer from all the Sections as per direction
The ﬁgures in the right-hand margin .indz'cate marks

Candidates are required to answer in their own words
as far as practicable

GROUP— A
(MODEL SYLLABUS)

(STATISTICAL METHODS FOR ECONOMICS)
SECTION —A

1. Answer all questions : - P 1 x12

()  What do you understand by secbndary data ?

( Turn Qver )
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(2)

(if) Define Harmonic Mean.

(7ii) Name a suitable method of collecting data
where the informants are literate and
spread over a vast area.

(iv) Define correlation.

(v) Correlation coefficient is the Geometric
Mean of ;

(vi) What is probable error of correlation
- coefficient ? -

(vii) What is Secular Trend ?
(viii)Define Index numer.

(ix) Write down Fisher's formula for the Calculation
of Index number.

(x) Define mutually exclusive events.
(xi) What is simple-random sampling ?

(xi7) Define conditional probability.

2. Answer any eight of the following :

(Continued ) AH ECO-07

(3)
'SECTION — B

(i) Distinguish between Parameter and Statistic.
(i) Define range.

(iii) Mention the various types of kurtosis in a
distribution. ‘

(iv) Interpret the correlation coefficient when
itsvaluer=+1,r=0,and r =-1.

(v) Givenr =0-6, n=64. Find out probable
€rror. ' .

(vi) If b,=0-6 and b =0-8. Calculate
coefficient of correlation (7).

(vii) What is semi-average method of measuring
trend.

(viii)Mentiofrany two types of Index numbers.
(ix) What is sampling error. |

(x) What is multi-stage sampling.

- 2x8

( Turn Over )



(4)

SECTION —-C

3. Answer any eight of the following : 3x8

(f) Arithmetic Mean of two observations is 25 and
their Geometric Mean is 20. Find the values

of the two observations and their Harmonic
Mean.

(ii) Distinguish between Primary Data and
Secondary data.

(iii) Write a brief note on skewness of a
~ distribution.

(iv) Distinguish between correlation and
regression.

v) ‘Define standard error of estimate. How is
it computed ?

(vi) Distinguish between seasonal and cyclical
fluctuations with suitable examples.

(vii)Explain Time Reversal Test for an ideal
Index number.

AH ECO-07 ' ( Continued )

(5)

(viii) Write a brief note on Family Budget Method
of calculating Consumer Price Index.

(ix) A card is drawn at random from a pack of

cards. Find the probability that the drawn card
is either a club or an ace of diamond. -

(i') Distinguish between sampling and non-

sampling error.
SECTION — D
Answer all questions : - Tx4

Explain different method of collecting Primary
Data. -

Or

Calculate Quartile deviation and coefficient
of quartile deviation from the following data :

X 10-20 | 20-40 | 40-60 |60-80 | 80-100

Y | 4 10 | 15 20 11

AH ECO-07 | ( Turn Over))
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5. Compute correlation coefficient of the following | Or
data : : ' |

[x |2 |3 |4 |5 ]| 6 |7 |8
y |4 |78 | 9] 10]14] 18

Discuss the problems in constructing index
numbers.

7. (a) State and prove the multiplication rule of

What will be the correlation coefficient of the Probability.
~ abovedataiflis substructed from each value of
X and 2 is added to each value of Y ? (b) A problem in statistics is given to five
_ students, A, B, C, D and E the chances of
Or . their solving the problem is 1/2, 1/3, 1/4,

1/5,1/6. What is the chance that the

The two lines of regression are 15x =8y + 130 problem will be solved ?

and 6y = 15x + 90. Find out x, y and coefficient
of correlation. - Or

6. Fit a straight line trend by the method of least
squares to the following data and estimate the
production for the year 2001.

(a) State and prove the addition rule of probability.
What happens to the addition rule when the
events are not mutually exclusive.

Year 1996 |1997 [1998 1999|2000 |
i : (b) A perfect die is tossed. What is the

Production | 49 | 54 |60 | 72 | 80 [ probability of throwing 3 or 5 ?

——— | (Continued ) AH ECO-07  (Turn Over )
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GROUP— B
(ODL SYLLABUS)

(STATISTICAL METHODS FOR ECONOMICS)
SECTION —A

1. Answer the following questions : 2x8
(a) Write a short note on Histogram.

(b) Ifthe arithmatic mean and standard deviation
of Group A and Group B are 1-06,1-2, 1-:309
and 1-307 respectively. Which group is
considered more consistant.

(c) What is linear correlation

(d) Given the following data: _.
N=8,2X=21,2X*=99,2Y=4,2XY=36.
Find regression equation of ¥ on X.

(¢) What s Cyclical variation.

(/) Construct index number of pi'ice from the
following data, under Laspeyres method :

- AHECO-07 ( Continued )

(9)

| 2017 2018

- Commodity Price Quantity Price Quantity
A 2 8 4 6
B 5 10 6 5
C 4 14 5 10
D 2 19 2 12

(g) Aboy contains 10 black and 20 white balls.
- One ball is drawn at random. What is the
probability that it is black. |

(h) A coin‘ is tossed for six times. Whaf is the
- probability of obtaining four heads.
SECTION — B

Answer all questions : o 16 x 4

2. (@) What is skewness ? Ekplain the tests of
skewness. |

(b) A testinmathematics was given to 400 students

of whom 150 were boys and 250 girsls. The
results were as following :

AH ECO-07 "
( Turn Over’)
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n =150 n,=250
¥ =72 - f =73
6,=70  oc,=64
Find the mean and Stand Deviation of the
Combined group.
Ok

(¢) What is range ? Explain the uses of range.

(b) Find the mean deviation of the following data :

Class ~ Frequency
0-10 5
10-20 8
20-30 12
30-40 15
40-50 20

3. (a) Prove that the coefficient of correlation lies
between +1 and —1.

AHECO-07 - ol I _ (Continued )

(1)

(b) From the data given below find the number
Ofitems nnn‘__

r=0-5, Zxy = 120, o, = 8, Zx’= 90.
where x and y are deviations from arithmatic
Or
(a) What is regression ? Why there is the
necessity of drawing two regression lines ?

~ (b) The equatlons of two lines of regression
obtained in a correlation analysxs are the
followmg

2x=8-3yand2y=5-x

Obtain the value of correlation coefficient.

4. (a) Write a note on secular trend.

(b) Plot the following data on a graph paper and
ascertain trend by method of semi-average.

Year 2010 2011 2012 2013 2014 2015 2016

Producion 100 120 95 105 108 102 112

AH ECO-07 ( Turn Over)
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(a) Write a note on Time reversal test.

(b) Prepare ﬁXed base mdex numbers from the
cham base mdex numbers:

Veakd 2006 2007 2008 2009 2010 2011

,Chaiobase o xHS -
Index 94 104 104 93 103 102

S. (a) Explam the multiple theorem of probability.

(b) A bag contains 10 white and 6 black balls, 4
balls are - successfully drawn out and not
replaced. What is the probability that they are

| a.ltematlvely of dlfferent colours -

Or
(a) Explainthe properties of normal distribution.

(b) Eightcoins are thrown Sunultamously Find

the chance of obtaining
(i) atleast6 heads (/) no heads (iii) all heads.

AH ECO-07 - BA-
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3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 80
Answer any one Group as per your Syllabus
Answer from all the Sections as per direction
The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
( INDIAN ECONOMY)

SECTION — A

1. Fill in the blanks : 1x12

(a) British colonial rule has Indian

handicrafts.

{ Turn Over )



(b)

(c)

(d)

(e)

(g
)

(7)

)

AG ECO —

(2)

Per capita income was in India at the

time of independence.

Wide gap between birth rate and death rate
population growth,

Recent population policy was passed by
Govt. of India in year

Green Revolution regional disparity.

High yielding varieties programme started in
India in year

NABARD was started in India in year

First industrial policy of the Nation was
passed in year

Abolition of industrial licensing is a feature
of industrial policy of Govt. of
India.

Investment limit of small scale industrial has
been raised to crores recently.

0l ( Continued )

(3)

(k) Share of service sector in GDP of the Nation
is in recent years.

() ICT and IT comes under sector.

SECTION — B

Answer any eight of the following within iwo
or three sentences each : 2x8

(a) What is colonialism ?

() What do you mean by British exploitation ?
(c¢) What is age structure ?

(d) Define unemployment.

(e) Define Birth Rate.

() Whatis ceiling on land holdings ?

(g) Define Cooperative.

(i) Define agricultural productivity.

(/) Who is money lender ?

AG ECO =01 { Tirn Over )
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(j) State the classificatin of industries in 1956
industrial policy.

SECTION — C

Answer any eight of the following within about
75 words each : 3x8

(@) What is Demographic dividend ?

(b) What is occupational structure 7

(¢) Whatis Green Revolution ?

(d) Define cottage industries.

(e) What is consolidation of land holdings ?
(/) Define Service Sector.

(g) What is industrial sickness ?

(k) Define sex-composition.

(7)) What is sustainability of services ?

() State inequality of income distribution.

AG ECO -0l { Continwed )

(5)

SECTION — D
Answer all questions : 7x4

(a) Discuss the basic features of Indian economy
at the time of independence. 7

Or

(b) State the causes of inequality in income
distribution in India.

(a) Discuss the causes of low productivity in
India. 7
Or

(b) Explain the sources of agricultural finance
in India.

(a) Discuss the problems of small scale and
cottage industries in India. 7

Or

(b) Examine the industrial policy of India
adopted in 1991,

AG ECO —01 { Tarn Over )
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7. (a) State the factors determining growth of
service sector in India. 7

Or

(b) Discuss the spread of ICT and IT and its
policy measures.

GROUP — B
(OLD SYLLABUS)

(INDIAN ECONOMY)

SECTION — A
1. Answer a/l the following questions : 2x8
(@) What do you mean by colonialism ?
(b) What is royotwari system of land tenure ?

(c) Explain three important causes drain during
British rule.

(d) Define economic planning.

AG ECO =01 ( Continued )

(7))

(e) What do you mean by decentralised planning ?

(/) What are the factors influencing density of
population ?

(g) What do you mean by poverty line ?

(71) Explain the concept of educated unemploy-
ment,

SECTION — B
Answer all questions ; 16 % 4

2. Explain the conditions of villages, urban handi-
crafts, transport and trade during the pre-British
period in India.

Or

Explain the forms of colonial exploitation
in India and also its consequences.

3. Explain in details the emergence of capitalist
enterprises in India during British period.

AG ECO =01 { Tirn Over )
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(8)

Or

What are the problems of stagnation,
poverty and backwardness during the British
period ?

Explain the characteristic of planning or a planned
economy.

Or

Analyse the performance of decentralised
planning in India and the causes of dismal
performance.

Analyse the nature and extent of unemployment
problem in India.

Or

Explain the poverty alleviation programmes
of Govt. of India.

BA -
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AGECO 01
2017 1
(Semester-III)
Time : 3 hours
Full Marks : 80
The figures in the right-hand margin indicate marks
Answer from both the Sections as per direction

(Indian Economy- I)
SECTION-A
Answer all questions. 2x8
1. Answer the following :
(@) What was Zamindari system ?

(b) What is the meaning of self sustaining vi lages
of India in the pre- British rule ?

(e) What is the meaning of economic drains dur-
ing British rule ?

(d) What is the meaning of self- reliance as a stra-
tegy of planning ?

{ Thrn Over )
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